Word Problems/Money n(" he

Draw the coins to help solve the problem.
1. Julia has three quarters, three nickels, and three

pennies. How much money does she have? answer:

2. Matt has four quarters, two dimes, two nickels,
and five pennies. How much money does she have? answer:

3. 5ara has five quarters, four nickels,and a
penny. How much money does he have? answer:

4.Sean has a quarter,seven dimes, two nickels,
and seven pennies. How much money does she have?  answer:

5.Jean has seven quarters and two nickels. How
much money does he have? answer:

. Who has the least amount of money: Julia,
Matt, Sara, Sean, or Jean? answer:
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